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Summer Examination-2022

Subject Name : Object Oriented Programming with C++
Subject Code : 2TE040OO0OP1 Branch: Diploma (CE)
Semester: 4 Date: 02/05/2022 Time: 11:00 To 02:00 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)
a) C++is language.
(a. Procedural (b. Object oriented (c. Problem oriented (d. all above
b) In inheritance, a class is deriving properties from more than
one class.
a) Single level b) Multiple
c) Multilevel d) hierarchical

c) Define: Class.
d) Which of the following is not OOP concept in C++?
a) Inheritance b) Encapsulation c¢) Polymorphism d) Compilation
e) C++is not superset of C.
a) True b) false
f)  Which concept of OOP is achieved by combining methods and attribute
into a class?
a) Encapsulation b) Inheritance c) Polymorphism d) Abstraction
g) Define: Reference variable.
h) Which of these is an incorrect array declaration?
a) int arr[] = new int[5] b) int [] arr = new int[5]
c) intarr[] = new int[5] d) intarr[] = int [5] new
i)  Abstraction is not providing implementation details.
a) True b) false
j) Friend function is used to access data member of class using non-
member function.
a) True  b) false
k) What is the process of defining more than one method in a class having
same name but different type signature?
a) Method overloading b) Method overriding
¢) Method hiding d) None of the mentioned
I)  Which of these keywords can be used to prevent inheritance?
a) static b) constant c¢) protected d) final
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m) Do-While() loop is exit control loop.
a) True  b) false
n) What is virtual base class in C++?
Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
(a. Write C++ program that show use of class and object.
(b. What is constructor? What is constructor overloading? WAP that show
use Constructor overloading.

Q-3 Attempt all questions (14)
(a. Explain static variable and static function with example.
(b. Write C++ program that show use of array of object.

Q-4 Attempt all questions (14)
(a. What is inheritance? Explain hierarchical inheritance with example.
(b. What is inline function? explain use of inline function with example.

Q-5 Attempt all questions (14)
(a. Write rules for overloading operators.
(b. Write short note on memory allocation for objects.

Q-6 Attempt all questions (14)

(a. What is C++? Explain basic structure of C++ program.
(b. Write down difference between POP and OOP.

Q-7 Attempt all questions (14)
(a. Explain Call by Value and Call by Reference with example.
(b. Explain Scope Resolution Operator with example.

Q-8 Attempt all questions (14)
(a. Explain overloading binary operator using friend function.
(b. Explain different file stream classes.
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Q-1

Attempt the following questions: (14)
C++ 3 el 8.

(a. (B0l (b. ALeBs2 AWRARS (c. AHRU A&l (d. Al BUR
------ clRAML, As adl As sdl ay adluigdl opiudl Ana 8.
a) Rbolcd Aad b) tglAe

o H@Aad Sl u@sMs

cquAlRd 52A: ol

o{lAotiMiell 520 c++ Ui 00P vaUA otl?

a) AR b) WedYA2lel ¢) WALNUEHH d) Ascat

C++ A C ™ol JuRA2 oldll. a) ALY b) Wi

ATHl UG(AA WAl [QAAYARAA Sl 00P ol 520 VA Yl UlA 8?
a) WedRJA2lel b) cllRUl ¢) WALNUSHH d) Aos3et
cluAlRd 52A: deel ud.

Y 56 Wldl AR ANRU B?

a) int arr[] = new int[5] b) int[] arr = new int[5]
c) int arr[] = new int[5] d) intarr[] = int [5] new

Aogselot WA ([Qotdl Yelat 5 otell. a) AR] b) vlg

%05 520l oll BUAL ollot-NIo1R §52Uolall GUALDL 53 Sl Sl
N1oRal AWSAY sl HI U D, a)AY  b) W

WS o ollHoll URd WUAIN-UAIL YslRell UGl Ulcldl adlul As s

ay Ugldal cuvau@d sauell ylba g 82

a) Method overloading b) Method overriding
¢) Method hiding d) None of the mentioned

wHYU sl Slafall GURAL clRALA Asall HI2 US AF B2
a) RAR b) At o) YAA d) ilAn

M) Do-While() (U A AEMBe 52l U B. a) ALY b) WS

n)

C++ Ml AU A2 SARL 9 B2

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

(a.
(b.

(a.

Attempt all questions (14)
C++ YLOUH AUl % ol Al allogseall Gulol eaia 8.

502522 9 B? 5022522 WWARAUSIL 9 B? YoUH AWl B S0R2522
W RAUSaLN GulaL e2la B.

Attempt all questions (14)
RAR UA Aol RAR 5121 GELEW U AHALCAl.
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Q-5

Q-6

Q-8

(b.

(a.
(b.

(a.
(b.

(a.
(b.
(a.

(b.

(a.
(b.

CH++ QUH AUl B wlleBseall Wl Gullol g2l B,

Attempt all questions

ARA 9 B2 URsMAs Rl BELERQL U AL,
Bolcltol $520l 9 B? GELSRQL U BolcllEal §5otoll GUAIL UM

Attempt all questions

W ARAZoL U2 12 Al Gl

Rl He AHL slaagll uR g8l ol cul.

Attempt all questions

C++ 9 82 C++ YalHoll HNod el uMLal

POP el OOP sl d$lelc A,
Attempt all questions

YU GlRL SIEL ol GELERQL A el gLl slet UMl
U RAR 2ot B U206l GELSAQL UA UMl

Attempt all questions

%05 §59lotoll GUAL 83l BN ARAUSIL et QU2 ML

@Qlau stsce W coll Ut

®
&5 >
&

S
o

A

(14)

(14)

(14)

(14)

(14)
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